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1. fod guar (fova) o o9 qeg w97 oar - 1. Which  potential is  considered  as

37 negligible value ?
(A) I fava (A) Water potential
(B) ey fog (B) Matrix potential
(C) fdeorg fawa (C) Solute potential
(D) <9 fovg (D) Pressure potential
2. Y& O BT ol fova 2 2. The water potential of pure water is :
(A) 1 (A) 1
B -1 (B) -1
€ 0 (C) 0
(D) -2 (D) -2

3. TP YUMol § UMl DI AOd Figdr o 3. The greater concentration of water in a

———— system leads to :
(A) 93T 3Tl aTwIcdale (A) increased transpiration
(B) 9aT gaTl faol fawa (B) increased solute potential
(C) SITIRRNT T2 (C) hypertonic condition
(D) 31f¥® TS Sull (D) greater kinetic energy

4, I foMg @l P B 4. The unit of water potential is :
(A) g (A) psi
(B) PIS 3HIE T (B) no unit
(C) URDel (C) pascal
(D) Mmole UfdT . (D) Mmole per kg
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gl & AU BT FEHO (e HROT Bl
g ?

(A) oo

(B) TR

(C) Tod 9ot

(D) U &

frfoafad # & dF-|1 9 & o7 7L
g °?

(A)  SrIdE 3]

(B) STH fdama®

(C) T ATYIHRYT HET

(D) S fAR¥re o

S Y& P AW Ay ol Uh SAEURTH
RBreelt @ 7w W el @ AT @ fon
fear o & -

(A) fawRo

(B) TR

(C) <IRe

(D) AT

Uh FUURTH fefeell gRT ofer fhy U
fderaHl & WRIRRYT Sd19 YU &1 A
T ?

(A) T g

(B) & &1 fm

(C) ¥Wifd T

(D) <RI

AGE-64

(4)

The cohesion of water molecules is due to

(A) Diffusion
(B) Osmosis
(C) Gravitational force

(D) Surface tension

Which of the following is not the

property of water ?

(A) Non-polar molecule

(B) Excellent solvent

(C) High heat of vaporization

(D) High specific heat

Name the term which is given for the

movement of water through a
semipermeable membrane :

(A) Diffusion

(B) Osmosis

(C) Tonicity

(D) Transpiration

What is the measure of the osmotic

pressure gradient of solutions separated

by a semipermeable membrane ?

(A) Water potential
(B) Fick’s law
(C) Turgor pressure

(D) Tonicity

Set-B



9. |9 Rafd &1 9™ wamgr oA 9.  Name the condition in which protoplast

UTeq HIRHE & Yeene NdEs o § ¢ of the plant cell shrinks away :
(A) ¥ (A) Turgid

(B) IR (B) Plasmolysis

(C) &l (Zere) (C) Flaccid

(D) @OR (D) Rigid

10. STl Q@MY B UURE W 10. The primary site of water absorption

3. is:

(A) WA (A) Phloem
(B) VilgetH (B) Xylem
(C) W® (C) Shoot
(D) ds (D) Root

11. f=faRed & 9 fo9 &85 9 we gR o 11. Which of the following zones is also

& w7 & S $9? known as the root hair zone ?

(A) fSFa &7 (A) Radical zone

(B) uRuda & (B) Maturation zone
(C) TrEiHR &5 (C) Elongation zone
(D) W<HeH &7 (D) Meristematic zone
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12.

13.

14.

15.

UEH BT A, S DR fEreelt 3 o
& IR § il 8T 2 ¢

(A) ¥
(B) el
(C) i
(D) U
&3 & &
(A)
(B)
©)
(D)

Bl DI TR &TqdT

QT DI SR &l

SISl DI STIEIROT &
UTeT B STl YA &

S¥ U BT M qa13y off Y @ fdee @
qui Hl 8, O JAUI | W T

(A) Wqd

(B) EEWEID

(C) el fafeeT

(D) %l <9

Se W UY @ FA8 AN O6 TOcAIdyYl
99 B fiog T @& T B RT MU T
BT T ISV :

(A) YERIET

(B) 7l <Id
(C) 3R T
(D) & &

AGE-64
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12.

13.

14.

15.

Name of the protein, which is involved in
the transfer of water across the cellular

membrane :
(A)
(B)
(©)
(D)

Keratin
Alanine
Arginine

Quaporin

The field capacity is :

(A)
(B)
(©)
(D)

Water holding capacity of the crop
Water holding capacity of soil
Water holding capacity of roots

Water utilization capacity of plant

Name the term which describes the plant

wilt beyond recovery :

(A) Saturation
(B)
©)

(D)

Hypertonic
Permanent wilting

Root pressure

Name the term given to the movement of
water against gravitational force, from

root to the aerial parts of the plant :

(A)
(B)
(©)
(D)

Ascent of sap
Root pressure
Radial movement

Field capacity

Set-B



16. UM & 3R H < ®Eg o) dR 16, The water molecules contain, two
| e v 3] 29 2 hydrogen molecules and ...

oxygen molecule(s).

(A) D (A) one
®) (B) two
() dH (C) three
(D) dIR (D) four

17. U & VRl & 9 fdha SepyY 9ot @ ? 17. How many attractive forces are there

between water molecules ?

A 1 A 1
B) 2 (B) 2
€ 3 (C) 3
(D) 4 (D) 4
18. gISgIoH amey # Ufd Wi ofdf H o 18. Hydrogen bond have a binding force of
. NSNS BT G g6l BT about ............. kilocalories per mole of
water.
(A) 1.3-45 (A) 1.3-45
(B) 4.5-65 (B) 4.5-6.5
(C) 6.5-85 (C) 6.5-8.5
(D) 85-95 (D) 8.5-9.5

19. YR U A ) grggior e ec 19, All most in water all hydrogen bonds is

R T O 2 broken down at .............. °C.
(A) 100 (A) 100
(B) 200 (B) 200
(C) 300 (C) 300
(D) 400 (D) 400
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20. UM H B Breh T4l Sd gerf 20. Water has a specific heat in all known

i ua e Sw B & substances, except :
(A) TT BT SRS (A) Liquid carbon dioxide
(B) «d REIER (B) Liquid ammonia
(C) =9+ $§§ oI (C) Liquid nitrogen
(D) &g #A (D) Liquid methane
21, e, °C dd dgqd H qig d 21. The specific heat of water decreases with
T @ A ow e ol B increase in temperature upto .............. °C.
(A) 30 (A) 30
B) 35 (B) 35
(C) 40 (C) 40
(D) 45 (D) 45

22, UH UM €d Pl 99 H dco B oy 22.  The amount of heat needed to turn one

JMIITH ST DI HAT BT Pel Sdl & gram of liquid into a vapour is known as :

(A) fadre oo (A) Specific heat
(B) TSRO ST (B) Heat of vapourization
(C) T« ™A (C) Latent heat
(D) SUYa H § I el (D) None of the above
23. O & JIT B FW 23. The heat of fusion of water is about
S U ym ey, e calories per gram.
(A) 70 (A) 70
B) 75 (B) 75
(C) 80 (C) 80
(D) 85 (D) 85
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24, IGd ®q H Bl $T ARK@ R 24. Survival of crops in the spring can be

Tl & depend on :
(A) fafdre oo W (A) Specific heat
(B) TN TTeTdhdl W (B) Thermal conductivity
(C) Weldd ™ W (C) Heat of fusion
(D) ATSIHRYT ST TR (D) Heat of vapourization
25. U &l 3T 9 (gm/dm®) § ¢ 25. The average density of water is
(gm/dm?) :
(A) 1000 (A) 1000
(B) 1500 (B) 1500
(C) 2000 (C) 2000
(D) 2500 (D) 2500
26. Ul fex e 9oy @ Hicr @) dar 26. As the number of mol of a solute per litre
HEar T of solution is known as :
(A) HIeRkd (A) Molarity
(B) IqUrdr (B) Salinity
(C) &R (C) Alkalinity
(D) SUYa H H IS Tl (D) None of the above
27. UMI # $UHT B 60% (wiw) T @ 27. The molarity of a 60% (w/w) solution of
Ao © ethanol in water is :
(A) 30.4 mol/kg (A) 30.4 mol/kg
(B) 32.4 mol/kg (B) 32.4 mol/kg
(C) 36.4 mol/kg (C) 36.4 mol/kg
(D) 38.4 mol/kg (D) 38.4 mol/kg
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28.

29.

30.

AGE-64

Y 9 Geld 8, 99 & DRG] EU

Hh B

(A) N
B P
C) K

(D) CI

d9 BT 8, 919 T B B sl
gRT O T80T &l <R 9 WS 8 ol & |

(A) 3TNy
(B) TSRS
(C) g

(D) TcT 3FaNYor

fdery @1 AgaT (molarity) @1 fdetd fova
W TR o gR fear mar 8 2

(A) faed
(B) dfUC % FHIGNTT
(C) T
(D) SWa ¥ ¥ IS T

(10)

28.

29.

30.

Stomata open when guard cell take up

+ ions from the surrounding

.............. occurs when loss of water is
exceed to the rate of water uptake by

roots.

(A) Imbibition

(B) Transpiration

(C) Wilting

(D) Absorption of water

The relationship of solute’s concentration

(molarity) to solute’s potential is given
by :

(A) Wilson
(B) Von’t Hoff equation
(C) Chalmers

(D) None of the above

Set-B



31. WIgHMIey B SUINT fhgal 9o+ & fou 31. Psychrometer is used for measuring the :

fepa ST § ?

(A) TRRRY favg (A) Osmotic potential
(B) Sid fawa (B) Water potential

(C) YNNG fava (C) Chemical potential
(D) SUgad |4l (D) All of the above

32. T YRR BT YA fhddl qoe b forw 32. Pressure chamber is used for measuring

GRIRCINIR the :

(A) TRRRV g (A) Osmotic potential
(B) YNNG fava (B) Chemical potential
(C) I fawa (C) Water potential

(D) SUgad JHI (D) All of the above

33. <919 U4 BT SUINT fhgal AU & fou 33. Pressure probe is used for measuring

T o & 2 the -

(A) WRRRY fovg (A) Osmotic potential
(B) I faWa (B) Water potential

(C) YNNG fava (C) Chemical potential
(D) SUgad JHI (D) All of the above

AGE-64 (11) Set-B



34. W@T 9] @& BRY oig &F b A 34. The water that is redistributed below the

m 2N arel U BT HET o © root zone due to the force of gravity is
known as :

(A) o el (A) Gravitational water

(B) ERURPING dl (B) Hygroscopic water

(C) BRDT T (C) Capillary water

(D) SWa &l (D) All of the above

35. el @ IR Yo, e, fifoa 35. Some water is present in the form of

hydrated oxide of Aluminium, Iron,

& TggcS RS & ®U H HY UM
Silicon inside the soil is known as :

HISE BT &, T dEl Sl

(A) ¥dd Siel (A) Free water

(B) HId I (B) Combined water
() d Td (C) Waste water
(D) SUgad JHI (D) Al of the above

36. U @ gig @ foly IUae ot I W Bl 36. The water available for plant growth held

e IR @) W & ﬁ% & &g 3§ between field capacity and permanent

wilting point is known as :

G T B, S $Ed &

(A) SUT& Sfcl &HdT (A) Available water capacity
(B)  STCTEIRUT &HdT (B) Water holding capacity
(C) XHIIT YR &HdT (C) Chemical holding capacity
(D) STYa H H IS el (D) None of the above

AGE-64 (12) Set-B



37.

38.

39.

AGE-64

Picad & ded H Udell AR dTell, Sifad
gyt @ WUE axal g, e
IROTHRGRY BIRGIT Hefl & a1 Rigged!
g @i Al S8 UeeRe @ o
3R &R Sl & |

(A) TR

(B) TXHIH

(C) dsa diy

(D) Vet

Afhy  sffefed-ote  sraeyer  Rigrd
feperep g7 fam o ?

(A) Tefda (1916) 3R URcel (1921)

(B) A (1951)

(C) IR (1959)

(D) Suga Wl

o, o SO SuRwfy W gfg @ aka
g1 fafire st Rufa @1 <orfar g, s
9% ®Y H S A ©

(A) T T

(B) U (FHSR) Tren

(C) g T

(D) ¥HifthfeTd dlem

(13)

37.

38.

39.

The bulk of the cortex consists of thin-
walled, living .............. cells, which store
starch and other substances, resulting
cells expand or shrink as materials move

in and out of their protoplasts.

(A) Parenchyma

(B) Arenchyma

(C) Bundle sheath

(D) Xylem

Active osmotic water absorption theory
was given by :

(A) Atkins (1916) and Priestely (1921)
(B) Thimann (1951)

(C) Creamer (1959)

(D) All of the above

The plant, which reflects specific

growing condition by its presence or

character of growth is known as :

(A) Indicator plant
(B) Succulent plant
(C) Xerophytic plant

(D) Thermophilic plant

Set-B



40.

41.

42.

AGE-64

98 3 X o W gl foedl & g
T T T W Al JIRNT R Febell @
Ve GHel W OUEN WA e,
HEAN ¢ :

(A) AR

(B) 3fdFau 1 ReA &R

(C) R =

(D) Suda Wl

et & ol @& waw @ R I AN ufd
ZHIE &F H U @ TR @ w9 H e
foar ST 8 a1 el H yare & foeer

& WU H ST A 2
(A) diafTRIeT o

(B) 3fAIU I

(C) MeIE o

(D) Suga H A Bl el

‘Ideotype’ ¥ et gIRT foar Ty o ?
(A) SHFTeS (1968)

(B) T (1967)

(C) Trex (1980)

(D) AN (1987)

(14)

40.

41.

42.

The maximum rate at which a soil under
given condition and at given time can
absorb water when there is no divergent

flow at borders is known as :

(A) Infiltration rate
(B) Percolation rate
(C) Seepage rate

(D) All of the above

The rate of water entry into the soil
expressed as a depth of water per unit
area applicable or divergence of flow in

the soil is known as :

(A) Infiltration velocity
(B) Percolation velocity
(C) Seepage velocity

(D) None of the above

The term ‘ideotype’ was coined by :
(A) Donald (1968)

(B) Henry (1967)

(C) Peter (1980)

(D) Strasbourg (1987)

Set-B



43. g H AT 10 3R 9@t H§ S-RRI-g-w= 43, The Norin 10 in wheat and Dee-geo-

R BT ¥ ? Woo-gen in rice are the sources of :
(A) N o (A) Dwarfing genes

(B) T S (B) Tall genes

(C) g9 =7 (C) Semi-dwarf genes

(D) SUYd H H I el (D) None of the above

44, dad UMY & oide H fow T azﬁ 44. Farm decisions taken in response to

R G — changing weather, is known as :
I 2
(A) TI-TSATEOR] (A)  Agro-advisory
(B) Uh-wii® (B) Agri-clinic
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) Suga H A Bl el (D) None of the above
45. BN gorg H WA & 45.  Farm advisory includes :
(A)  TUHIAG (A) Agronomical
(B) ICAI® T T (B) Pest and disease
(C) O g g7 Y&y (C) Water and input management
(D) SUgad JHI (D) All of the above

AGE-64 (15) Set-B



46. 3TcSl Holl BT AT PRAT @ -
(A) el gRT U 9 UTS 3IR A |

(B) IE ydl gRI [ ¥ U fdhar o
g ok auw oy ¥ wmaffd @
ST 2 |

(C) B WM @I & 9 § 3R B
WRIafd 8 S & |

(D) STda # & Big AL

47. 69 YR $1 AR JaigAH A e
&I FUIRT B H 7S] ol T ?
(A) 3BT AGH YaTAe
(B) WeH 37l HEH YalAN
(C) I Jafy A YargAH
(D) SHIE W

48. MR AR fasm ded Rerd ¢

(A) FE A
(B) fowelt #
(C) PIAPIT H
(D) oI

49. gl R wrfie Aiered N o

(A)  STTaTy
(B) HH
(C) T SrRifaTES

(D) Suga Wl

AGE-64 (16)

46.

47.

48.

49.

Albedo refers to energy :

(A)

(B)

(©)

(D)

Received by the Earth from Sun
and absorbed.

It is received by the Earth from Sun
and reflected back to space.

Some parts are absorbed and some

are reflected.

None of the above

Which type of weather forecasting helps

in determining cropping pattern ?

(A)
(B)
(®)
(D)

Short-term weather forecast
Medium-term weather forecast
Long-term weather forecast

All of the above

The Indian Meteorological Organization
is situated in :

(A)
(B)
(©)
(D)

Mumbai
Delhi
Kolkata
Pune

The primary greenhouse gas in Earth’s
atmosphere is :

(A)
(B)
(©)
(D)

Water vapour
Methane

Carbon dioxide

All of the above

Set-B



50. I Q@AM & Yfg I SR T -

(A)
(B)
(©)
(D)

31eTTeT
EEI
ISEIEIR|
qIATRY] Db Yl
g

C

(rrafRerd)

51. g T A S BT e TR Heal 2

(A)
(B)
(©)
(D)

SERGIIREICRIY
ReR AR Ty
Al (A) 3R (B)
GR7e H 9 o Rerfadt

52, W T & Q@A foe yefia o ¢ -

(A)
(B)
(©)
(D)

BRI
ERIGE
PIg IATa! el
RIEEIE

53. ddl ANGH died H wfid B 2

(A)

(B)

(©)

(D)

AGE-64

99 X ;59 AfScll @ el |
It dIoT SR U bl ST bl
gl

Rierg : Rferg @ sraqerad 4 d
I8 HY DRl ANV, FEBN AM DY
qhd @ |

IeRD : JARDI DI FHeldd A 9

I8 B <A1 AIRY, G M N
qHd £ |
Sy |4l

(17)

The inaccuracy of weather forecasting is
dueto:

(A)
(B)
(©)
(D)

Latitude

Altitude

Topography

Chaotic nature of the atmosphere

The rapid pressure rises indicate :

(A)
(B)
(©)
(D)

Improving weather conditions
Stable weather conditions
Both (A) and (B)

Bad weather conditions

Green color forecasting symbol indicates :

(A)
(B)
(©)
(D)

Watch
Warning
No warning
Alert

Crop weather model includes :

(A)

(B)

(©)

(D)

Seed rate : Optimum seed rate can
be found out with the help of these
models.

Irrigation : Optimum amount of
irrigation and time of application

can be simulated.

Fertilizer : Optimum amount of

fertilizer and time of application of
the fertilizer can be simulated.

All of the above

Set-B



54. GNd DI SREIR| BT 1 dR R {59 yoR 54. The climate of India has broadly been

& wq & gftfa fear T & ? described as of which type ?
A T (A) Dry
(B) AN (B) Monsoon
(C) (C) Wet
(D) auf drelt (D) Rainy
55. RRY qEal & $ars 9 2 ¢ 55.  The height range of Cirrus clouds is :
(A) 7000-23000 ®IC (A) 7000-23000 ft
(B) Wd=-7000 BIC (B) Surface-7000 ft
(C) 16000-43000 BT (C) 16000-43000 ft
(D) SWE ¥ | TS el (D) None of the above
56. § ORDIIR DI I S é B B 56. The average height of troposphere is :
(A) 0-14 o, (A) 0-14 km
(B) 14-28 . (B) 14-28 km
(C) 32-36 T, (C) 32-36 km
(D) 40-60 foe. (D) 40-60 km

57. UMl & gRT @G 4-Sfdf BT HEl ot 57. Soil water, absorbed by plants, is

5. called :
(A) PurS (A) Cresard
(B) EleTs (B) Holard
(C) @IS (C) Chard
(D) WS (D) Fullard

AGE-64 (18) Set-B



58. Ud BING ¥ AU BIRGT § ol Bl 58. What determines the diffusion of water

faavor w7 fReifRa ewdr g ? from one cell to other ?
" op (A) OP

(B) WP (B) WP

(C) DPD (C) DPD

®) TP (D) TP

59. PIRMAT & fbg 97 # UMl W9 Yerd 59.  Which part of the cell contains water-like

gy o & § ok o Pefe 8 substances with dissolved molecules and
9 suspended in them ?

(A)  HTeTeiTsd (A) Protoplasm

(B) WISCICIToA (B) Cytoplasm

(C) WrECrdrd (C) Cytosol

(D) Hfga (D) Matrix

60. Mo 3R MY b PR U R 60. The amount of water lost by plants due to

@Q T T ®F AT a7 27 transpiration and guttation :
(A) 98% (A) 98%
(B) 12% B) 12%
(C) 92% C) 92%
(D) 50% (D) 50%

AGE-64 (19) Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
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